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Panel 4

39 A company makes three types of patio furniture: chairs, tockers, and chaise

wants to use up all the stock. To do this. how many chairs, rockers, and chaise
lounges should it make?

Wood — Plastic - Alminum X = clydn
Chair @unrt Tunit 2 units
Rocker 1unit 1unit 3 units I mtl':m
Chaise lounge 1 unlt 2 units 5 units becd
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lounges. Each requires wood, plastic, and aluminum, in the amounts shown in the
foltowing tableThe company has instock 400 units-of wood, 800-units of plastic,
and 1500 units of aluminum. For itz end-of-the-season preduction run, the company
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